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Studi di funzione

22 =3
Jw) = x? —3x+2
fla)=e
f(x) = ze™*
flz) = Zi _T_ 2—: = tanh(z)
fla) =
x
arctan x
) =
f@) = (o + e
J(w) = r+1
f(z) = x — 3arctan(x)

f(z) =1n*(z) — 3In(x) + 2

2 —1
flo) = z+3
f(w):x2—3x+2

2?2 —9
f(ff)zm

2 —1
f(x):x3—x2—4x+4
o) = Va2 —x3x—|—2
flx)=var+1-x
flx)=va2—1—-+Va2+1



19. f(z) =ava?—1—2a?
Val+r—1—x

X

20. f(x) =
21. f(z) = arcsin(sin(x)

22. f(z) = 12e"(2* — 4w + 2) — 2* + 24x (%)

-9 r+1
23. f(x) = P (%)
24. f(z)=a2>—ava2 -1
25. f(z) =In(2? — 1) — i:i (%)
26. f(z) = iln (251_11)
2 +1
27. f(x) = pra—]
28, f(z) = 1+ 1In|z| — 8z ()

5 + 222
29. f(z) = (2> +2x —1)e"™® -2 —20 (%)

30. f(z) = 8x?2 — a3 — 41In(1 + 4:1:2) (%)

31. f(z)=In ng) Cs gt ()
32. f(z) = (2® =3z +2)e"™? -z — 15 (%)
33. fla) = |~— i B

x = piu difficile.



